REPRESENTATIONS...

@whisto_maths

What do | need to be able
fo do?

By the end of this unit you should be able to:
*  Label and identify Ines paralel to the
axes

Recognise and use basic straight Ines

*  ldertify positive and negative gradients
*  Link inear graphs to sequences

* Poty=mx+cgaphs

Heywords

| | |
I I
| | Quadrant: four quarters of the coordinate plane. |
I'l' Coordinate. a set of valves that show an exact position :
: : Horizontal a straight e from left to right (paralel to the x axis) |
| | Vertical a straight Ine from top to bottom (paralel to the y axis) :
I

N l
N :
I

N l

Origin: (0,0) on a graph The poirt the two axes cross
Parale!: Lires that never meet

Gradeent: The steepness of a ne

Intercept: Where Ines cross
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| COO(dIMtCS in four QUadmntS :I Lines parallel to the axes 0ll the points on this Ine have ‘o can be ONY postive :

-0XiS a x coordnate of 10 or regalive vale

: M Coordnate (x y (6, 4) (! T "TW T T reixdng O I
[T, | .

| From the orign this coordinate is I | / e 9 [

| 6 places dong the postive x | | | ‘ [ P ‘ ! Lines paralel to the y axis take the form I

axis and 4 places up the postive | Firtersection [ | [, L X = a and are vertical |

: Y oxis |I points ~__ 18 |

I (0,5) tedbasapnt | "l DA Lines paralel to the x axis take the form :

| (X 9) ’ on the y axis (a can be I I -4 1T—1 \ y=aand are horizontal |
’ any number) 1 | 4

| b the A W Ohiags the ’ | | N Ol the points on this Ine have  eq (3,-2) (7,-2) (-2,-2) |

| postoncnthe positon on the ( Q) Wilbe das be a point L1 | | | 11 1 1

¥ axs first s second on the x axis (a can be L - ay coordnate of -2 all lay on this Ine because the I

| y any number) 1l y coordnate is -2 ]

______________________________________________ 3

RCCOWTISC and use the hm U=x R@COW\IS(’, and use the [lﬂCS U= =kx  The value of k changes the steepress |

This means the x and the y

of the Ine

[ I

| oy

| Y410 coordnate have the same I | I

| . vale I 4Y53 y-x Notery =i the same as y=lk I

I 7 | : '

: : . Exampes of coordnates on ths ne:(0,0) (-3, -3) (5,8 : I ] ey AX g:e bigger the value of k the steeper the Ine wil :
e P o e | FI S I s = 42:““;“_

| NEEE : I 7Ry :

| ! The axes scake is important — if the scale s the | - They vil abiduss @0 The closer to O the value of k the closer the Ine

| . same y = x wil be a straight Ine at 450 I 1 throwh (00) wil be to the x axis :

I ) I

|I | Plotting y = mx * ¢ graphs

Dlreot Proportion using u=kx
The line must be straight to be

|
I
| drectly proportional — variables 1 y=x+5 Jx |: 3 xthe x coordrale then— ||
| ncrease af the same rate k T § 2 | HEEIDE Drai a table to display this |
| [ y=x-0 & 2| y |-10] -1 informattion |
! 1 L/ SEEA !
| i 872 Aaily iad § % g :I This represents a coordinate pair |
| 2 e s3I 3-0 |
- IR, =3
I Direct proportion graphs alwaus start at (0,0) as they are I & I I 5 _ |
| eserting reltonships between tvio varabk / ] ' «o |
| escribing relationships between two variables I |I i You only need two points to form |
r—_—_—_—_—_—_—_—_—_—_—_—_—_—_—_—_—_" | y=xt+a | | ‘; a straight Ine |
: 1 ]
: Lines with negative aradients [] Ths s the ine yx when s S e Ul :: ¢ I
is shows the translation

Ony straght-ine graphwitha 11 the y and x coordnate are of that ne || 3 Phtng more ponts heps oo |
| i e h I the same | 1 decice if your catuations are |
| ] negative X vaue 1as 0 egy-x*J| mEI T correct (f theydomake g~ |
| , negaitive gradent 1 i the Ine yrx moved 5 || straight ine) I
| PR S 1 P\msupthe@mph|: |
I y=x yrx=1R Il D fos been added (o each I | Remember 1o join the poirts to I
| T of the x coordnates | | ke o Ine |

] |

: Direction of all negative gradents [ :




